UWANA Hospitals & Institutions November 2022 Meeting Minutes

Date: Sunday

November 20, 2022, 3:45pm

General Attendance:

- Jared 1st time
- Nidenne 1st time
- Brady K. 2nd time
- David C − 2nd time

1. Readings

1.1 12 Concepts: Joe W.

2. Attendance by Position

- 2.1. Chair: Amanda Yes
- 2.2. Vice Chair: Ryan Yes
- 2.3. Panel Coordinator: Carol Yes
- 2.4. Secretary: Robin. Yes
- 2.5. Literature: Julie N Yes, report sent (mollyfaithpig22@gmail.com and cell 801- 657-6825)
- 2.6. Valley Epic: Juli B/Ryan Yes/Yes
- 2.7. Salt Lake Behavioral: Trevor Yes
- 2.8. VA Hospital: Carol G/Ryan Yes/Yes
- 2.9. Odyssey House: Sara Yes
- 2.10. VOA: Donnie/Doug/Ryan No/Yes/Yes
- 2.11. Recovery Ways: Drew No
- 2.12. Valley Phoenix: Cate -Yes and McCall No
- 2.13. La Europa Academy Robin Yes
- 2.14. Phoenix Recovery Zylar Yes
- 2.15. Women's Jail: Carol G Yes
- 2.16. Men's Jail: Vacant
- 2.17. Women's Prison: Carol G Yes
- 2.18. Men's Prison: Ron S./Tom No/Yes
- 2.19. Orange Street: Carol G Yes
- 2.20. Prison Release Fair: Joey/Jack Yes/yes
- 2.21. Tooele Jail: Vacant

3. Previous Month's Meeting Minutes:

- 3.1. Received by all? Yes
- 3.2. Amendments? None
- 3.3. Approved? Yes

4. Panel Reports

4.1. General Reports

- 4.1.1. Chair (Amanda)
 - Next month we have elections. We will need to go through facility reports
 quickly to have time for elections. If you are interested in any positions, the
 clean time requirements and information on positions is on the uwana. Org
 site. Please bring others to the meeting.
- 4.1.2. Vice Chair (Ryan)
 - Grateful for those in attendance
- 4.1.3. Secretary (Robin)
 - Minutes serve as report. Please provide email to be included in minutes.
- 4.1.4. Panel Coordinator (Carol)
 - No new facilities

- If you need any help please let Carol know.
- 4.1.5. Literature (Julie N)
 - See attached report

4.2. Facility Reports

- i. Valley Epic (Juli B. & Ryan Y.) [Second and Fourth Wednesdays @ 7:00p]
 - Going well twice a month.
- ii. SL Behavioral (Trevor) [Fridays @ 6:30p]
 - 20-25 clients attend
 - The contact Donna left SL Behavioral Donna has not been replaced, so Robin H is contact there for now. Jason back in town and will help with taking in meetings until the end of the year.
- iii. VA Hospital (Carol/Ryan) [2nd and 4th Mondays @ 3:00p]
 - Going well.
- iv. Odyssey House (Sara) [Sundays at 6:00pm]
 - Literature box for NA is lost. Need to build a new box. Will reach out to Julie for new box. Carol can provide chair sheet.
- v. VOA (Donnie/Doug/Ryan) [Tuesdays @ 7:00p]
 - Going well. Will ask facility for bigger literature rack.
- vi. Recovery Ways (Drew) [Every other Tuesdays @ 7:00p]
 - Going great. Needs speakers, and rotating meeting formats.
 - Requesting help if anyone is available.
 - No form for facility reports.
 - Brady willing to help.
 - Speakers Ask members of H&I committee
- vii. Valley Phoenix (Cate/McCall) [Sundays @6:00pm]
 - Going well. Looking for women speakers. If you haven't spoken in 5-6 months, please let Cate know if you are interested.
- viii. La Europa (Robin) [Every other Thursday at 6:00pm (next one is December 8)]
 - We are glad to be going twice a month. Attendance approximately 5 clients. Going well.
 - ix. Phoenix (Zylar) [Thursdays at 7:00pm]:
 - Going great and meeting every week.
 - x. Women's Jail (Carol) [Mondays @ 3:00p & Saturdays at 2:30p]
 - Push to get applications and trainings in for November. See attached list of trainings. Juli and Carol can go. Sara and Cassidy cannot go. Kathy wants to be involved.
 - xi. Men's Jail (Vacant until ready to open) [Thursdays @7:00p]
 - Bill has been trained.
- xii. Women's Prison (Carol) [Wednesday @ 6:30p]
 - Going well. Switched to Wednesdays. Will set up a zoom meeting soon.
- xiii. Men's Prison (Tom) [Sundays @ 2:00p]
 - It's been a struggle. Last week it finally worked out seven men attended. Two attended today. Region has Steps by mail program: nautah.org
- xiv. Orange Street (Carol) [Fridays @ 7:00p]
 - Has had several women that are badged attend
 - Between 7-8 women in attendance.
 - Cassidy will go this week. Robin will go soon.
- xv. Prison Release Fair (Joey/Jack) [Tuesdays from 9:00AM-noon]
 - Went Tuesday at 8am that was too early, they showed up at 9. 30 released prisoners showed up. Joey and Jack will alternate. Donnie will also help. Julie N and Kathy can help. Katie Bennett is the contact for clearance.

- Make basic text available if someone asked for one. Kathy motioned to
 put out two books on table and have 3 more available in case they are
 requested by prisoners leaving. (five on hand) Motion passes.
- H&I can reimburse Jack for color paper and ink if needed. He prints out all area meeting lists.

xvi. Tooele Jail [no day or time yet]

- Badges: Carol, Collyn, Audrey, Tom (need at least one more woman to open women's side)
- Need more men
- Next training: December 6 at 5:30 anyone interested in training please go to training
- Glade told Tom he's cleared to go
- Kathy interested
- Requirements: off paper 1 year

5. Old Business

- New facility request Fortitude Treatment Center Men only Prison Related
- 1747 S. 900 W., Salt Lake
- Evenings Wednesday or Friday 7 pm
- Available: Tom, Bill, Topher

6. New Business

Elections next month. Reports only if there is news.

7. Close at 5:00p

End of minutes. Thanks

Ersenfort D	ta de la companya de	Gest date.	Unit	Price			arector's	Gross Order Day	How Sugaran	treetford	Orber today	Actual Order	actual Codes	Red Models - Med Tolkelands	actual Count
IN0001	Basic Text	Hardbound	\$	12.33		7	\$ 86.31		7	6	-1	2 5	24.66	9	8
IN0024	Basic Text	Softbound	\$	12.33		0			0		6	2 5		2	
IN0002	IWH&W	Hardbound	\$	9.69		8			8	2	-6			8	
IN0011	Living Clean	Souftbound	\$	10.51		6			6	2	-4			6	2
IN0023	Just for Today, Revised	JFT	\$	9.69		5	\$ 48.45		5	1	-4	1 5	9.69	6	0
IN0003	Intro Guide to NA	Softbound	\$	2.18		4			4	20	16	10	21.80	14	
IN0025	Spanish Intro Guide to NA	Softbound	\$	2.18		5	\$ 10.90		5	10	5			5	7
IN0026	Behind the Walls	No Staples	\$	1.02		0	\$ -		0	25	25			0	29
IN0014	Behind the Walls	With Staples	\$	1.02		46	\$ 46.92	5	41	25	-16	5		41	28
IN0020	White Book	No Staples	\$	0.81		40			40	50	10	20 5	16.20	60	18
IN0022	Who, What, How & Why	IP 01	\$	0.25		66	\$ 16.50		66	50	-16			66	74
IN0027	The Group	IP 02	\$	0.33		70	\$ 23.10		70	50	-20			70	
IN0028	Another Look	IP 05	\$	0.25		44	\$ 11.00		44	50	6	4		44	70
IN0013	Relapse and Recovery	IP 06	\$	0.25		42	\$ 10.50		42	100	58	50	12.50	92	33
1N0008	Am I an Addict	IP 07	\$	0.25		38	\$ 9.50		38	100	62	25 \$	6.25	63	58
IN0021	Just For Today	IP 08	\$	0.25		17	\$ 4.25	10	7	100	93	25	6.25	32	62
IN0006	Living the Program	IP 09	\$	0.25		22	\$ 5.50		22	50	28	5		22	25
IN0019	Sponsorship	IP 11	\$	0.25		34	\$ 8.50	10	24	100	76	50	12.50	74	43
IN0004	Triangle of Self-Obsession	IP 12	\$	0.25		42	\$ 10.50		42	100	58	25 \$	6.25	67	72
IN0016	By Young Addicts, For Young Addicts	IP 13	\$	0.25		49	\$ 12.25		49	50	1			49	50
IN0012	One Addicts' Experience	IP 14	\$	0.25		38	\$ 9.50		38	50	12	5		38	50
IN0005	For the Newcomer	IP 16	\$	0.25		40	\$ 10.00	20	20	100	80	25	6.25	45	60
IN0010	For Those In Treatment	IP 17	\$	0.33		50 :	\$ 16.50		50	100	50	5		50	100
IN0018	Self-Acceptance	IP 19	\$	0.25		54	\$ 13.50		54	100	46	25	6.25	79	5
IN0029	H&I and the NA Member	IP 20	\$	0.25	1	16	\$ 29.00		116	100	-16			116	121
IN0009	The Loner: Staying Clean in Isolation	IP 21	\$	0.33		70	\$ 23.10		70	100	30			70	77
IN0007	Welcome to NA	IP 22	\$	0.25		55	\$ 13.75		55	100	45	5		55	68
IN0015	Staying Clean on the Outside	IP 23	\$	0.25		45	\$ 11.25		45	50	5			45	100
IN0030	Money Matters: Self Support in NA	IP 24	\$	0.56		19	\$ 10.64		19	20	1	5		19	19
IN0031	Accessibility For Those with Additional Needs	IP 26	\$	0.25		54	\$ 13.50		54	50	-4			54	55
IN0032	For Parents and Guardians of Young People in NA	IP 27	\$	0.33		45	\$ 14.85		45	50	5	5		45	45
IN0033	Funding NA Service	IP 28	Ś	0.50		20	S 10.00		20	20	0	-		20	20
IN0017	Introduction to NA Meetings (no Staples)	IP 29	\$	0.25		38	\$ 9.50	20	18	50	32	9		18	87
IN0034	Self Support: Principle & Practice	IP 30	Ś	0.25		15	\$ 3.75		15	20	5	-		15	16
IN0035	The Group Book	GROUP	\$	1.02		6	\$ 6.12		6	5	-1	4		6	6
IN0036	IP - PI and the NA Member	IP 15	Ś	0.25		0	s -		0	20	20			0	17
IN0037	IP- Mental Health in Recovery	IP 31	\$	0.33		90	\$ 29.70		90	100	10			90	100
IN0038	Misc. Spanish Literature	SPANISH	Ś	0.25		0	s -		0	100	100	-		0	100
IN0039	Reaching Out	REACH	\$	0.25		17	\$ 4.25		17	100	83	4		17	100
	-						\$ 714.79						******		

water damaged

а

UWANA LITERATURE ORDER FORM - STOCK ITEMS

		PRICE	QTY	SUBTOTAL
	6th Edition Basic Text, Hardcover	\$12.33	<u> </u>	JODIOTAL
	6th Edition Basic Text, National State of State	\$12.33	1	\$12.33
	6th Edition Basic Text, Pocket-sized	\$12.33	_	Ϋ12.33
	6th Edition Basic Text, Audio CD (Book 1 only)	\$10.96		
Books	The NA Step Working Guides	\$9.14		
Вос	It Works: How and Why, Hardcover	\$9.69		
_	It Works: How and Why, Softcover	\$9.69		
	Just for Today, Revised-Softcover	\$9.69		
	Guiding Principles: Traditions Book (Hardcover)	\$11.82		
	Guiding Principles: Traditions Book (Softcover)	\$11.82		
	Living Clean, Hardcover	\$10.51		
	An Introductory Guide to NA	\$2.18	6	\$13.08
	An Introductory Guide to NA (spanish)	\$2.18		
	White Booklet	\$0.81		
	White Booklet, H&I Edition (no staples)	\$0.81	10	\$8.10
ets	In Times of Illness	\$3.45		
Booklets	The Group Bookelt	\$1.02		
Вос	NA: A Resource in Your Community	\$0.43		
_	Behind the Walls	\$1.02		
	Behind the Walls, H&I Edition (no staples)	\$1.02	4	\$4.08
	Twelve Concepts of NA Service	\$2.23		,
	Working Step Four in NA	\$0.83		
		\$0.25		
	#1 Who, What, How & Why			
	#2 The Group	\$0.33	_	Ć4 F0
	#5 Another Look	\$0.25	6	\$1.50
	#6 Recovery and Relapse	\$0.25	8	\$2.00
	#7 Am I An Addict	\$0.25	12	\$3.00
	#8 Just For Today	\$0.25	4	\$1.00
	#9 Living The Program	\$0.25		
	#11 Sponsorship	\$0.25	16	\$4.00
	#12 Triangle of Self obsession	\$0.25	8	\$2.00
	#13 By Young Addicts for Young Addicts	\$0.25		
	#14 One Addict's Experience	\$0.25	12	\$3.00
	#15 PI & the NA Member	\$0.25		
Ps	#16 For the Newcomer	\$0.25	10	\$2.50
*	#17 For Those in Treatment	\$0.33		
	#19 Self-Acceptance	\$0.25	6	\$1.50
	#20 H&I and the NA Member	\$0.25		
	#21 The Loner: Staying Clean in Isolation	\$0.33		
	#22 Welcome to NA	\$0.25		
	#23 Staying Clean on the Outside	\$0.25	5	\$1.25
	#24 Money Matters: Self Support in NA	\$0.56		
	#26 Those with Additional Needs	\$0.25		
	#27 For the Parents and Guardians	\$0.33		
	#28 Funding NA Services	\$0.50		
	#29 Introduction to NA Meetings	\$0.25	12	\$3.00
	#29 Introduction to NA Meetings #29 Introduction to NA Meetings, H&I (no staples)	\$0.25	12	75.00
		\$0.23		
	#30 Mental Health in Recovery			
	Welcome 20 Days	\$0.57		
	30 Days	\$0.57		
S	60 Days	\$0.57		
āg.	90 Days	\$0.57		
Key Tags	6 Months	\$0.57		
Ke	9 Months	\$0.57		
	1 Year	\$0.57		
	18 Months	\$0.57		
	Multiple Years	\$0.57	l	

Updated Septembe	er 2020
11/18/2022	DATE
H&I	GROUP NAME
Julie N	GSR NAMF

		PRICE	QTY	SUBTOTAL	
	1 Year	\$3.45	<u> </u>	JOBIOTAL	
	18 Months	\$3.45			
	2 Years	\$3.45			
	3 Years	\$3.45			
	4 Years	\$3.45			
	5 Years	\$3.45			
	6 Years	\$3.45			
	7 Years	\$3.45			
	8 Years	\$3.45			
	9 Years	\$3.45			
	10 Years	\$3.45			
	11 Years	\$3.45			
	12 Years	\$3.45			
a;	13 Years	\$3.45			
onz	14 Years	\$3.45			
Coins - Bronze	15 Years	\$3.45			
7S -	16 Years	\$3.45			
io.	17 Years	\$3.45			
٦	18 Years	\$3.45			
	19 Years	\$3.45			
	20 Years	\$3.45			
	21 Years	\$3.45			
	22 Years	\$3.45			
	23 Years	\$3.45			
	24 Years	\$3.45			
	25 Years	\$3.45			
	26 Years	\$3.45			
	27 Years	\$3.45			
	28 Years	\$3.45			
	29 Years	\$3.45			
	30 Years	\$3.45			
	Eternity	\$3.45			
	Literature Committee Handbook	\$2.95			
rials	A Guide to Phoneline Service	\$3.86			
	A Guide to Local Services in NA	\$7.61			
	Outreach Resource Information	\$2.94			
Service Materia	Institutional Group Guide	\$4.62			
Ž	·				
ice	Treasurer's Handbook (Revised) Group Treasurer's Workbook (Revised)	\$2.28			
erv	, , ,	\$2.28			
S	Group Starter Kit	\$7.31			
	Group Readings (7 cards)	\$4.97			
	Group Treasurer's Record Pad (13 months)	\$0.81			
Service Pamphlets	An Into to NA Meetings	\$0.31			
	Group Business Meetings	\$0.25			
	Group Trusted Servants: Roles and Responsibilities	\$0.25			
	Disruptive and Violent Behavior	\$0.25			
ice	NA Groups and Medication	\$0.33			
er	Leadership in NA Service	\$0.33			
S	Social Media	\$0.30	4.5-		
	Stock items (Page 1) Total:	\$62.34			
	Special Orders (page 2) Total:		4.6-	2.4	
	Order Total:		\$62.	34	

UWANA LITERATURE ORDER FORM - SPECIAL ORDER ITEMS

_		PRICE	QTY	SUBTOTAL
	6th Edition Basic Text, Large-print	\$16.80		
	6th Edition Basic Text, Gift Edition	\$27.96		
	6th Edition Basic Text, 30th Anniversary LE	\$37.32		
	Miracles Happen, Hardcover	\$28.85		
	Miracles Happen, Softcover with Audio CD	\$11.82		
ts	It Works: How and Why, Pocket-sized	\$10.00		
kle	It Works: How and Why, Soft & Hard & MP3	\$9.70		
00	It Works: How and Why, Large Print	\$13.70		
/В	Sponsorship	\$8.88		
Books / Booklets	Just for Today, Revised-Gift Edition	\$18.73		
300	Just for Today, Daily Meditation Cards	\$16.50		
7	Just for Today, Current Year Calendar	\$11.93		
	Sponsorship	\$8.88		
	Just for Today, Pocket-sized	\$10.00		
	Living Clean, Softcover	\$10.55		
	Living Clean, Commemorative Edition	\$33.00		
	White Booklet, ASL DVD	\$0.81		
	Welcome	\$0.57		
	30 Days	\$0.57		
S				
Kit	60 Days	\$0.57		
Chips / Key Tag Kits	90 Days	\$0.57		
17	6 Months	\$0.57		
Ke	9 Months	\$0.57		
/ s	1 Year	\$0.57		
ip	18 Months	\$0.57		
\mathcal{O}	Multiple Years	\$0.57		
	Welcome (47 Languages)	\$24.95		
	Multi-year (46 Languages)	\$24.42		
	31 Years	\$3.45		
	32 Years	\$3.45		
	33 Years	\$3.45		
	34 Years	\$3.45		
	35 Years	\$3.45		
	36 Years	\$3.45		
	37 Years	\$3.45		
	38 Years	\$3.45		
	39 Years	\$3.45		
0,	40 Years	\$3.45		
nze	41 Years	\$3.45		
Bro	42 Years	\$3.45		
Coins - Bronze	43 Years	\$3.45		
ins	44 Years	\$3.45		
၂၁	45 Years	\$3.45		
	46 Years	\$3.45		
	47 Years	\$3.45		
	48 Years	\$3.45		
	49 Years	\$3.45		
	50 Years	\$3.45		
1	51 Years	\$3.45		
1	52 Years	\$3.45		
	53 Years	\$3.45		
1	54 Years	\$3.45		
\vdash	55 Years	\$3.45		
Wallet	Group Readings (bundle of 15)	\$2.84		
	Overdose or Jail (bundle of 500)	\$7.05		
	Recovery is Possible (bundle of 500)	\$7.05		

(IVI	- SPECIAL ORDER ITEMS						
		PRICE	QTY	SUBTOTAL			
Speciality Coins	Triplate: Green/Pearl/Black: 18M, 1-50Y	\$25.22					
	Triplate: Purple/Dark Blue/Black: 18M, 1-50Y	\$25.22					
	Triplate: Blue/Pearl/Black: 18M, 1-50Y	\$25.22					
	Triplate: Red/Pearl/Black: 18M, 1-50Y	\$25.22					
7	Triplate: Black/Silver/Gold: 18M, 1-50Y	\$25.22					
alit	Triplate: Pink/Pearl/Gold: 18M, 1-50Y	\$25.22					
eci	Triplate: Gold/Pearl/Black: 18M, 1-50Y	\$25.22					
Sp	Triplate: Violet/Pearl/Black: 18M, 1-50Y	\$25.22					
	Triplate: Orang/Black/Pearl: 18M, 1-50Y	\$25.22					
	Stainless Laser-etched: 18M, 1-50Y	\$13.45					
	Stainless Laser-etched: Eternity	\$13.45					
	7 Poster Set	\$11.17					
	"My Gratitude Speaks" poster	\$3.55					
	"Serenity Prayer" poster	\$3.55					
	"Twelve Steps" poster	\$3.55					
	"Twelve Traditions" poster	\$3.55					
	"Third Step Prayer" poster	\$3.55					
	"Just for Today" poster	\$3.55					
	"Twelve Concepts" poster	\$3.55					
Poster / Banners	Set of 3: Steps, Traditions, and Concepts (35"x50")	\$75.10					
uu	Twelve Concepts (35"x50")	\$24.90					
, Bc	Twelve Steps (35"x50")	\$24.90					
er/	Twelve Traditions (35"x50")	\$24.90					
ost	Set of 3: Steps, Traditions, and Concepts (28"x40")	\$53.15					
P	Twelve Concepts (28"x40")	\$18.50					
	Twelve Steps (28"x40")	\$18.50					
	Twelve Traditions (28"x40")	\$18.50					
	A Vision for NA Service (36"x36")	\$23.10					
	A Vision for NA Service (28"x28")	\$16.80					
	World Regional Meetings Map (5'x7')	\$77.45					
	World Regional Meetings Map (45"x63")	\$47.45					
	Literature Timeline (33"x9')	\$98.20					
	Literature Timeline (28"x88")	\$60.10					
	Literature Rack (8-pocket)	\$22.38					
S	Literature Rack (16-pocket)	\$28.12					
шə	Literature Rack (20-pocket)	\$41.06					
y It	Basic Journal	\$22.38					
alit	NA Medallion Journal (Black)	\$17.35					
Speciality Items	NA Medallion Journal (Terra Cotta)	\$17.35					
Sp	Basic Mug	\$6.90					
	Living Clean Mug	\$16.50					
	Basic Text Timeline Mug	\$16.50					
Service Materials	H&I Handbook (w/CD)	\$9.65					
	H&I Basics	\$0.60					
	PR Handbook	\$9.85					
Иα	PR Basics	\$1.75					
l əs	A Guide to World Services in NA	\$4.30					
'n	Handbook for NA Newsletters	\$2.10					
Se	Additional Needs Resource Information	\$2.65					
	Planning Basics	\$2.05					
ı	Special Orders (page 2) Total:	l					

Special Orders (page 2) Total:

Email your order to: uwanaliterature@gmail.com Rosie Rivera

Sheriff

Jake Petersen

Undersheriff

Matthew Dumont

Chief Deputy

Shanda Gonzalez

Deputy Chief

Bart Bennett

Programs Division Administrator

Salt Lake County Sheriff's Office



Rick Morse

Programs Division Lieutenant 3415 South 900 West #124 Salt Lake City, UT 84119 Office: (385) 468-8679 Mobile (385) 222-5648

TTY: 711 e-mail: rmorse@slco.org

Benjamin Page

Programs Division Sergeant 3415 South 900 West Salt Lake City, UT 84119 Office: (385) 468-8803 TTY: 711

e-mail: bpage@slco.org

Date:

Good Afternoon volunteers,

I hope you are all doing well and are adjusting to being back in the jail. The next block of volunteer security trainings have been scheduled and can be found below. All trainings will be held at the Oxbow Jail Training Room located at 3148 South 1100 West South Salt Lake 84119. Classes are all in person and are limited to 20 volunteers.

November 29, 2022, 1600-1800 December 02, 2022, 1200-1400

December 07, 2022, 1700-1900 December 09, 2022, 1000-1200

December 12, 2022, 1000-1200 December 13, 2022, 1700-1900

December 15, 2022, 1400-1600 December 19, 2022, 1400-1600

The group liaisons will need to submit the completed/signed application, ID, and requested training date to Robyn Lucas rlucas@slco.org and Sgt. Page bpage@slco.org. Please remember that applications need to be submitted as a PDF, no pictures or screenshots of applications will be processed.

Respectfully,

Sgt. Benjamin Page Programs Division Sergeant